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frar pime hiee heen

¢ T OF g gee vz & K 41 minnfes O 01
¥ AL
Iy el
vg R S . . the candidaten
1§ 7 MEkw gwa Rar na altotted !
the questions carefully

pestion pooklet 1% divided into

S WIEGIEE R _mva-yud This 4
T . } . aned
SvET-T/ ftoo sections =~ ggc_ﬁg_f_l_ll
Section-B.

g O In Section-A, there are 80 objective

6 SvE-5 ¥ g0 Fghve wv T &1 ¥

type .questions; out of which any

fE2T 40 5T T ¢ 3 &1 AT F
answered.

40 questions are to be
::_!H:_? - E‘ f% A ? ?
1w &1 FE Each question carries 1 mark. If a

0% e F9 T W #FIT?' a1 7uq candidate ~ answers  more than

< 3 . estions, then answers 0 rst
10 7 & s v & g a0 questons BELE f
| 40 questions will be evaluated only.
g7 I 39T FW4 T OMR I~ -

For answering these darken the circle

- 4 f freq # - At/ Fet |
o 3 e e el | with blue / black ball pen against

g 97 § W/ fodt st wEW & the correct option on OMR Answer
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gane T / A qared / wew /s YT Sheet provided to you, Do not use

. whitener / liquid / blade / natl etc.
Tt ®T OMR IJAv-GFw & yaht wyr 9

~ on OMR Answer Sheet; otherwise
g & AW whar wRmy s
the result will be treated invalid.

rautll

. GUE-§ g 24 oy 3T wv &1 e 7. In Section-B, there are 24 short

answer type questions. Out of these,
g W wife® s &, 8 wvw v verped /

eight questions are from Physics,

Wi @ U9 8 Wy T AT & &

| eight questions are from Chemistry -
AT 97 (wifew s, e e |

and eight questions are from Biology.
1d dla faam) & ww-uw g &

Four questions are to be answered

IR A &1 JAF & for7 2 o Freifta fro-m each  subject  (Physics,

ol g# 3faf® 39 QUS ¥ 6 E!H Chemistry and Biology). Each

] | o .

. . question carries 2 marks. Apart from

A 5T 73 e 3, Fd & 2 e * |
| these, there are 6 Long Answer type
wifier s &, 2 W99 VEIET W & |
o questions in which two questions each
W 2 gy dla fmm & ¢ sifiw | o
: ' from  Physics, Chemistry and
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I qOieEr Ffee &1

glcs cames
questions  from Phy

6 marks each, and Jrom Chemistry

and Bio . S 5 mark‘ Eaf.h‘.

frf/m

Answer of one question each

Physics, Chemistry and Biology s

compulsory:

Use of any electronic appliances Is

strictly prohibited.
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T - ¥ /| SECTION- A

e v Objective Type Questions

w7 W& 17 807 TqFre wvr &1 gk @ fsdf g0 39T 37 77 S 31 7 gy
& T R 7y § ford @ vw w1 o g o w e

Oﬂﬁzw%ﬁ'ﬁl

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Eack. guestion

40 - 1 = 40

LA

four Opﬁon.s out of which only one is correct. You have to mark ysur selected optivn o

the OMR sheet.

[, S H Yo 96T SEE &

=44

) = B~ Ex
© @& D) FHIFET
Water soluble bases are called
(A)  Acid (B)  Alkali
(C) Salt (D) None of these
2. WS W F UEEAS g E |
(A)  CaCO, B) Na,CO,
(C)  Ca(HCO,), (D) NaHCO,
S-1 | —| 170036670 P

gl
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The chemical formula of soda nsh is

(A} CaCO, (B)  Na,CO,

(C)  Ca(HCO,), (D)  NaHCO,
freifera A a4 Rty D € 2

(A) T YRR B R 3 iR
(€) HTRR (D) Eiga

Which of the following is a heterogeneous compound ?

(A)  Limestone | (B)  Plaster of Paris
(C) Marble - (D) Chalk

SiferT Wi &1 TAEfE T
&) cacoy (B) Na,CO,.10H,0
© Ca(OH), (D) NaHCO,

The chemical formula of baking soda is

(A) CaCO, ‘ (B) Na,CO,.10H,0
(C)  Ca(OH), R (D)  NaHCO,4
S-I | —| 17003-(s6/70) " Page 6/48
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o bl A dna e )
BV IR y  uEpien e
W) Ul aq my et &l ad
Whieh of the following is a corrosive acid 7
W Methunwie acid (3)  Sulphuric acid
() Ethanoie acid (D)  None of these
o, e G Ao @ pl o o Y
A 4 B) 3
€) 7 (D) 10'5
The pH value of milk of magnesia is
w4 | B) 3
© 7 D) 105
7. R S AT O A getegEl @ wen §
@A) 2 B) 4
<€ 7 (D) 6
S-1 | —~| 17003-6/70) Page 7/48
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[ 115
The number of electrons in the valance shell of sulphur i8
Ay 2 B) 4
© 7 D) 6
e vl & Pt T et s 2
a) cl @ F
© 1 D) Br

Which of the following elements has maximum ionization energy ?

4 ¢l . (B F

€ 1 D) Br
Frefetfen = -1 A6 A (W) & TR g & 2

@A) J/s (B) J/sec?
© Jls? . . (D) J72s72

Which one of the following units is equal to watt ?

&)  J/s ' B) J/sec?
@ Jlst D) J2s72
S-1 |- 17003‘[66!70, l . . Pagc 8!43
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j0. T B F TR Y dreeh vt et &
) TR (B) I W
© TR (D) RS i
The coil of the electric heater wire is made up of
(A)  Copper - (B) Zinc
(C) T”Llngij‘-tcn' D)  Nichrome .
11. %@Wwagwﬁﬁqamﬁmﬁ.wiﬁ%,%
(a) RIS . I (B) W

© favEier D) v

The property of a circuit that converts electrical energy into heat is.
(A)  resistance (B) current

(C)  potential difference (D) power

12. wﬁ@ﬁﬁﬁwmmwmmﬁaﬁaﬁ‘ﬁmmnﬁm%

(A)  Toee o 9@ ¥ e B TRATRHFTAIFT
(©) Foree s s QA A D) FH W HE T
P112/112 S-1 | -[17003-6s/70) o Page 9/48
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. - : - nt bece
The potential difecence acrosy an electrie cell upon drawing current become,

(A) more than em/f’ (B) less than emf

(€} double the emf (D)  nonc of thesce

13, e F & 6

W e B) A

-

© o
Non-renewable source of energy is
(A) Coal (B) Wind
(C) Water (D) Sun
14. ﬁvr%wa;‘mmma = forar e &
e o B goo
© e/ # | D) T A A A

Wavelength is commonly expressed in

(A) metre (B) hertz

(C) metre/sec (D) none of these -

S-1 | —| 17003-6/70) Page 10/48
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16.

(112
ferlt e AR 3 v Paeger v o wifereflet s g

(B) irAL

@ =M | |
(97/3@3?9 | (D) T @ B R

When an electric current flows through a conductor the moving particles are

(A)  Neutrons - (B)  Protons

(C) | Elect-rons (D)

None of these

12 v foveiet & @ fgalt & 9N 2 pom wmw W @ 9W F e e fe

AR ?
A 25 ® 6
© 127 D) 247

How much work is done in moving 2 coulombs of charge between two points of

12 V potential difference ?
(A)  2joule . (B) 6 joule
(C) 12 joule ‘ (D) 24 joule
S-1 | =1 17003-s6/70) | Page 11/48
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W A ST ST it gyt o) w7 gaam A2
A T @
€ [ (D) 3]

Which plant did Mendel use for his genetic experiment ?

(A)  Rose (B) Mango
(C)  Pea (D) Potato
18. 199 ¥R & a67 ¥ afus oo 3w et £ 2
() arEE (g s
(€ (4) 3R (B)IF | (D) T HE A
Which type of respiration releases more energy ?
| (A)  Aerobic | (B) Anaerobic
(C) Both (A) and (B) o (D)  None of these
19. HFE F TR S U Fee &
(A) T B) g
) T ©f Y T e
S-1 | —| 17003-(66/70) | Page 12/48
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Male genital gland in human is called

Test;
(A) estis (B) Epididymis

(C)  Seminal vesicles (D)  Sperm duct

2. Wﬁ@’m@ﬁﬁw%

B) ] H

®
© ¥ (D) FHE
An important characteristic.of life is _
(A) Movemf-:nt of molecule | (B) . Growth
(C)}  Organisation : (D)  Coordination
21.‘ T AT BT Y
(A) WA -1{]/ o A

o Feikw R MEfEEd o) @O

S-1 - 17003-(66/70) | Page 13/48
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Autetrophic nutrition occurs in
i
(A} Plant B) Funé

) A) and (C)
(C)  Some protista and prokaryotes (D) Both (A

22. ’ﬁm g &
g i B i
(C) Tl w5 [D)- FARE H
Glycolysis occurs in
(A)  Mitochondria - (B) - Cytoplasm
(C) | Golgi complex (D)  Chloroplast
v s i 2 e T e e §
(9/ ’%!Iﬂ:f | -- B) SFRE

() WA (D) 9 EeH

S-1 | =] 17003-(66/70)
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structuial ind faactiona) bt ol nervoun sysiern oo alled

A Ne
{A) ruron (B)  Dendrite

C Ne
() ephron (D) Cyton

24, VT VSRR agy g g g 7

(A} UHIEE

B) fEE
€ =R (D) R
Which enzyme acts on fat P
(A)  Amylase (B) Trypsin
(C) Pepsin | (D) Lipase

25. ﬁam%&"‘rmﬁr%mmaw% ?
(A) O, IeTT T 5 lB1/ e, S T g
(C) HTeur, ST T =gl (D) mﬁwmwm
What is the image of an object formed by the eye ?
(A) Real, inverted and enlarged [ﬁ) Virtual, erect and diminish_ed

(C)  Virtual, inverted and enlarged (D)  Real, inverted and diminished

S-1 | =1 17003-(66/70) | Page 15/48
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# 1A % ¢ ERl -gqf.:’f‘f e

20 ‘\'%'_J,'t'lluﬁu'-':! SRECRIRINY
A YRR (B) A
(€ aeeriR P A
ewit ?
What is used to measure the current in an elclctrlc circuit
(A)  Galvanometer (B) -Voluncter
(C) Voltameter (p) Ammeter.
27, ﬁmﬂ‘mﬂaﬁﬂﬁwmﬁﬁmﬁaqﬁm% ?
w v @ V'R
© I*R o) R?
Which of the following does not represent electrig power 7
@A) v B) VR
(© I*R - (Di R2
ha.  Freifeiae 3 @ R awq o1 SwEioe Sl B S G € 2
-~
(A) i I TR I
(c) Faa o o
S-1 | = 17003-(6s/70) Pag;_;;’;

https://www.bihartopper.com



[112]

Which onc of the following can form a real image of an object ?

(Al Glass slab (B)  Convex lens

(C)  Concave lens (D)  None of these

20, Tt g R Frarcrne foveol Pl o @ ara v v g e et €,
3w §
//J
(& Al & B) Wt fag
(€ W D) Wl &g
The point, at which the rays comi_ng out from a point-object after refraction
through a lens meet is called https://www.bihartopper.com
(A)  Centre of curvature _ (B) Image point
(C) Focus (D)  Optical centre
30. WIEUTR! FH H1 ANIEYIE BT €
.~ ,
(A)  FEAA U B e e
(€ IO o | D) ST T
S-1 | —| 17003-s6/701 | Page 17/48
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The obicctive lens of photography camera 18
. ye lens
{Al Concave mirror (B)
) - onvCﬂ
(C) Convex lens (D} ¢

3 el v § o g e @ g

F:T ?

(A 50 cm W TH 1 UF e GF
g;/ 50 cm BIFH g0 FI G IO A
(C) $cmﬁmiﬂﬁﬁmﬁ“
(D) 5 cm IFH T F TF Il A4

Which one of the following lenses would you prefer to use while reading sma

letters found in a dictionary ?

(A) A concave lens :?f focal length 50 cm
(B) A convex lens of focal length 50 cm
(C) A concave lens of focal length 5 cm

(D) A convex lens of focal length 5 cm

S-1 [ =] 17003-(s6,70
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Rl TIiEir 2o e foel el wietir ofke < ) Ev gt - 15 om €1 ET07

32.
da @ €
A T e, S I @) v A, o e
© T 3 (D) R 3T
A spherical mirror and a thin spherical lens have a focal length of - 15 cm cach.
The mirror and the lens are likely to be
(A)  Concave mirror, convex lens (.E!l Convex mirror, concave lens
(C) Both concave | (D) Both cpnvex
33, HIOW TgiCAH | WA S €
mowER B R
© TR ) D) TRRRH
The hormone secreted from the corpus luteum is
(A) Androgen | | (B) | Progesterone
{C) Estrogen (D)  Testosterone
3. e o 3 3l A @
@ s o LB/ T W
© 9 o
S-I |- 17003-[66-;701 | ' Page 19/48
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36.

The source of energy in the ccosystem is

(A}  Rainwater (B)
(€)  Air (D)
WS ST 3999 ®F ¥

A)  WRd (B)
(C) 3R (D)
The i;lace of origin of humans is

(A) ‘ India (B)
(C)  Africa (D)

e & i S e R QT 2

(A) 3SR | (B)
© w | (D)

[

sunlight

Soil

China

America

T

@) 3R (c) FAI

Which of the following is a sexually transmitted disease ?

(A)  Typhoid - (B)

(C) AIDS ' | (D)

Gonorrhoea

Both (B) and (C)

S-I | —| 17003-(s6/70)
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(112]
m7F T8 FOMER g b
(A MAIHR (13) WIAATHT
(« #E ¥ S % angn D) TR FR I
The shape of human kidney is
(At Spherical (B)  Rectangular
(CI  Bean shaped (D)  None of these
fevieedl | B a1 WIS e 1 R 3
A TR (B) TR
€ TR ' PR et
Change in body in adolescence is due to
(A) Te stosteror-le ' (B)) Estrogen
(C) Thyroxine (D) both (A) and (B)
A YU i IEY H ﬁ?{ g
&) TEvrmEeEn . (B) | RIEE
© 9 D) T F HE T
B S-1 | —| 17003-66/70) Page 21/48
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40.

41.

The period of sexual maturity 18 called
pubert}'
(A)  Adolescence (B)
e of these .
©)  Growth o) NP

ST R 1 ey ;. P a0 €T € 7
W ) ,ﬂ?ﬂ?ﬂ

s o o BN

L

What is the main cause of depletion of ozone layer ?

(A) Pollutic}n | | (B) ,?esﬁcidcs |
(© crFC ' (D) Methane
dIFe (V) TWER B %- |

(A) C/J 3 B) J/C

©  J/A ' | & A/

Volt (V) is equal to
(A) C/J | (B) J/cC

() J/A R

S-I|-]1 7003-(66/79)
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42. TOE SO & Wog ST @) weq ¥

LA)/ ferga wr B) Foem aws @
© fo@ER : D) T | IS
The rate of flow of electric charge is called

(A) Electric current (B) Electromotive force

(C)  Potential difference - (D)  none of these

43. friifrd o S FUH WG § 0

W=Wxﬁfﬁlﬂ? B T =T x ake
€ _-‘ﬁ'= See : (D) T e

Which of the following statements is true ?

(A)  joule = volt x ampere . | (B) joule = coulomb x volt
. ampere . . _ coulomb
(C) joule= —ﬁ (D)  joule="_11

4. —CHO sffrariier S ® Fed €

(A) T U - ® HEIA T
€ Ufceersies T§ (D) el V98
S-1 |- 17003-@;701 ' : Page 23/48
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46.

[

The functional group — CHO i8 called

oup
(A)  ether group ® carbony} ’
(C)  aldehydic group o @ Oh:;:: ,a; A e ?
T W H,S0, %mﬂﬁmﬁ“ﬁﬁfmﬁ
® cH, B Gt
© o, o) CoHa

thanol with concentr;

: .
Which of the following gases is formed on heating

H,S0, ?
(A) CH, B) CHy
(C) C,Hg (D) CoHy

R ke Fifet 3 forr o 91 ST0GH § 7

(B Zn

Hg
F (D) Al

(C) Pe

Zinc blende is an ore of which of the following metals ?

@A) Hg | B) - Zn
© Fe ' oA
S-1 | —| 17003-6/70) Page 24/4
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49,

amad W & Tl sad & o) 1) CARERLL oL A /i @)

(A)

© e i

Which property of elements is same in a period of Periodic Tuble ¢

(A)

(€

WHI] YR

Atomic weight . (B)

Valence electron (D)

(DT T E TR

(D) anll &) the

Atomic volumae

No. of shella

HMWIFA, Ca0+H,0- Ca(OH), fFd WoHR = aifwfran ¥ ?

(A)

(€)

ICRIGE]

RIS

(B) TEWH

W‘F‘

The reaction, Ca0O+H,0->Ca(OH), is of which type ?

(4)  Dissociation (B)  Combination
(C) Addition (D)  Substitution
S &1 e G &

(A) O, B) O,

© 0, (D) Og

S-1 | =1 17003-(66/70)
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The molecnlar formula of ozone is

A0 B 93

4

© o, o Os

SO pH W T e foer A P A7

A 2 B 7
LOI/ 13 (D) ©
-

Which value of pH represents alkaline solution ?
@Ay 2 B 7
© 13 ' D) 6
51. W%@aﬂﬁm@m@aﬁa@%ﬁ%mﬁﬁww A F 7 2
Ay 1:1 : | -[B] 2:1

€ 3:1 ’ (D) 1:2

What is the ratio of number of atoms of hydrogén and oxygen in a molecule

water ?
A} 1:1 (B) 2:1
© 3:1 D) 1:2

S-I | —| 17003-(6s/70) ’ Page 26/
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52, TN SRS AU W ool A SR § 2
W B B
(C) ‘gc D) 1gD
Which one is a metal in the elements represented by the following symbols ?
@ oA B B
© '3c (D) 13[5

53. WW“WEE%%WWpHﬂHWW ?
(A) 12 /[E‘( 7
c 8 - (D) 4
What would be the pH value of the solution of an acidic oxide ?
A 12 B) 7
€ 8 D) 4

54, FAY FOR Tpiceh WM ¢ |
() ERl o 8 @
© @ - (D)  HEEn
S-1 | = 17003-i66/70) Page 27/48
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56.

The hardest natural substance is

(A)  Silver ) Iron
(C)  Diamond o) Cod
foeR amitere w1 G W AT & ?

A B I
© - o
What is the colour of silver iodide ?

(A) White | (B) . Yellow
(C) Red o Green

ST R R T sy 7 _
(a) ST LB/WW
C) R | (D) :ﬂtm:r_

Respiration is which type of chemical reaction ?

#)  Oxidation (B)  Exothermic
(©) Combination | (D)  Reduction
S-1 | —| 17003-(6s/70) Page 28
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57.  HH AR & wam smard o et 4 virg &
A 2 e
(C) 18 o) 32
The number of elements in the first period of Periodic Table in
(A) 2 B) 8
€ 18 (D) 32
58. mqmmﬁmmmw% ?
A} M B M*
c M2 D) M3
From which of the following is the removal of electron the easiest ?
A} M B M7
59. T&dg s o awl & fov S-w v TREH YR £ 2
(A) K9S B) LI
€ M3 (D) N3
S-1 | —=| 17003-(66/70) Page 29/48
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p]ﬁw y

com
]Ih arc
An element has (WO shells and M

clement is

[ﬁ} Argﬂn

(A)  Neon
(D) godium
(C)  Chlorine

Wﬁmmmmﬁawﬁ?

|l|:i

i filled with clcctmnn.,r
|

64.
(A) F | Cl
(C) Br o) I
Which of the following i_g the most reactive halogen ?
Ay F B) Cl
(C) B; D) 1
65, Ol F S-3T el A A E 2
w EH o
© . DO wad
S-1 | —| 17003-s6/70) Pa;—;;;
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g o

Wl

e gy 1]“\-'
T
lll-hlm;ln-u Orpang f ;
#1135 lound in plants ?

) In rong
(B) In flower

) n atem
(D) In fruit

N -
oo *T%ﬁmqmmﬁtmﬁﬁmﬁﬁmﬁqmﬂwmmg?

A umfRass me/ ST

() e Tss (D) 9 9 g4t

Which part of the brain maintains the position and balance of the body ?
(A)  Fore-brain ' * (B) Hind-brain

(C)  Mid-brain (D) All of these
7. g o o {y s wd § 2
A HH B) grigew

© e D) FR

S-1 | —| 17003-66/70) Page 33/48
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In which plants are stomata absent ?

[112)

(A)  Mango (B)  Hydrilla
(C)  Opuntia (D)  Nerium
68. BS-IV & WY ¢
) TR (B) & g
(C) o W (D) T wgET @
BS-IV is associated with
(A)  Soil pollution (B)  Sound pollution
(C)  Air pollution (D) Water poligﬁon
60. T U IEdivH W aEH ¢
(A) =8 | .[B} | ET‘ﬁq
gl | D) TR
Carrier of oxygen in blood is
(A) Fat (B} Hormone
(C) Haemoglobin (D) Carbohydrate
S-I1 |—| 17003-(s6/70) Page 34_!;
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.
SRRt o b
Ty 1\--»*-1
W TR ) ailladAleg
- "“}"'"—'! -
O L‘.‘;\sy&t@l [I )) ‘{l“"”

Which of the following is kuown an a birth hovmons ©
(Al Tyrosine (1) Oxytocl

€} Thyrotropin (D) Tnnulin

71 W el Y
&) IR/ @  elswE
0 ®wR pr” ot Q

The seeds develop from

(A)  Anther | (B) Ovary
(C). Stamen (D) Ovule
72. TRV 9T @
@A) TgEwmwE B) B 3w
©, TER _pf SR &
S-1 |- 17003-[65:70; Page 35/48
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Duadinung s a pait ot

(A Large intestine (m amall intestine

(1 Bueval cavity (N)  Htomach

orTe fFR v ) aRfRufe Ak 2

\‘"

EVRE 32 (B) ur:pffﬁi

L

O i o) el @ i
Which type of ecosystem is & pond?
(A Artficial (B) Natural

{C)  Abiotdc (D) None of these
74. B R @9 GRREOE oF § Afuway g d g an € 2
@A) IEE C(B) VTR

(c) Hiwws D) TATE

Which of the following are present in maximum riumber in an ecosystem ?

{A)  Producers (B) Herbivores
(C}  Camivores (D) Omnivores
S-1 | =1 17003-66/70) - Page 36/4¢
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[112]

Which of the following was not present on earth before the origin of living

beings ?
A co,
€ 0O,

" @B NO,

(D)

aRT & I ST A 4R S €

(A)

€

The frequency of alternating current produced in India is

(A)

(€

80 Hz

60 Hz

80 Hz

60 Hz

(B)

D)

(B)

(D)

All of these

70 Hz

50Hz

70 Hz

S0 Hz

S-1

17003-(66/70)
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v A m  10°A

O 10 A @ 107A
Une microampere electric current is
A 1077A () 107°A
< 1075A ) 107A

< #ﬁ“ﬁ:%ﬁ?ﬁhﬁﬁﬁﬂﬁ%’

A SEF (B) T
S D SwRE

Narora Nuclear power plant is located in which state ?
iA)  Rajasthan (B)  Gujarat

i{C} Maharashtra (D}  Uttar Pradesh

7o,  TEA WA S & iU et Sw e ¥ 2

},1{ FaAe U (B) I U0
€y O) ®r * faeel w0
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| 112 ]
Which is used tq get spee

trum ?

(A)  Concave m;j
mirror (B) Convex mirror

(C)  Prism (D)  Glass slab
S SN TR s et sl e A 8, o o e &
A FEW

& www ok S w A

(C) WiEE W

O wwE g R I R [ S |

A magnified imaginary image by a convex lens is formed when the object is

placed
(4)  at infinity
(B) between focus and lens -

(C) atfocus

(D). between focal distance and twice focal distance

g-1 | —| 17003-(66/70) Page 39/48
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MUK - W / SECTION - B
wifirw ¥ITE / Physios

WY INAT WF / Short Answer Type Questions

mwﬁr:#swwwﬁvi:nﬁ#ﬁrﬁ4mﬂfﬁmi:mm*ﬁ?
2#%#! 4x2=8

Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions. Each question

carries 2 marks. 4x2=8

1. v faEsT F e ? 2
What is nuclear fission ?

/maﬁﬁa'&w%aﬂ%ﬁmﬂﬁﬁl - | 2

Write any two uses of a concave mirror.
3, faea fava ) oftaren & oo ST S AP ford | | 2

Define electric potential and write its SI unit,

S-1 | = 17003-(66/70) Page 40/48
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: [112]
& wwhmmiuaﬂaﬁwﬂu%?ama, )
Is fossil fuel renewable ? Give reasons.
5.(/"aﬁq$ﬁaqﬁ1%|éi )
Write Ohm's law.
6/ o v T ¥ 7 7% fFe PR H @A ¢ 2 2
What are defects of vision ? What are its types ?
7. e U U f uR A SR A | 2
b
State the difference between alternating current and direct current.
, . . :
8. @hﬂﬁwqﬁmaﬁrnﬁﬂm% ?
Why does the sun appear red at the time of sunrise ?
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gt 3wfig 9 / Long Answer Type Questions

: ooy : v #
mmgmzoﬁ#mﬁvmhm#wwwmhm ferg
- 6=6
6 3% Ml 1 1x
. Each
Question Nos. 9 and 10 are Long Answer Type questions. Answer any one of them. &ac
question carries 6 marks. 1x6=6
; : 1 1 1
3 s o o P e 6
' v u f
. 1 1 1
In a concave mirror prove that —+—=—.
v u f

10. _ﬁqﬁﬁaﬂaﬂmaﬁﬁﬁﬁlwmwmﬁrmﬁ.lh@ﬁaﬁ
foroes e FT T TRA & 2

Draw a labelled diagram of an electric motor. Explain its principle and working.

What is the significance of the dividing ring in an electric motor ?

S-1 | —{ 17003-(66/70) | . Page 42/48
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WG VI [ Chemistry

oy I Wy / Short Answer Type Questions

WY VST 11 ® 18 aw g I F1 F @ PRt 4 vt & 3w ) v & e

2 3% Fraifea 3 4x2=8
Question Nos. 11 to 18 are Short Answer Type. Answer any 4 questions. Each question
~ocarmes 2 marks. 4x2=8

2

11. W it & Rl < @l T SoiE HwE

Mention any two advantages of underground water.
12. R @in ORE F1 il 7 ford | 39 ST R E 2

Write the mol_ecular formula of Plaster of Paris. What are its uses ?

g/ﬁqﬁﬁmﬁﬁﬂmw% ? Trifener wfieReor &1 Hgferd &9 ford :

Al(s)+ HQSO“(‘“I} - MQ(SO4};(QQ} + H2(g]'

t .
What is a balanced chemical equation ? Write the balanced form of the following

equation :

Al(s)+H,S0 — Al,(SO, lalaq; + H2[gl |

4(aq)

S-1 | =] 17003-66/70)
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On prolonged heating of copper turnings in the air, a black coating is

[112]

T Foert 9 g A o g A T o g, 36 O e 9 =g Il 1T W
g A wEe S W I o {1 A 1 o ¥ T F I
afieart @t § 2 ariieansil % A o i Rl

2

formed on

it. On passing hydrogen gas over it, it regains its brown colour. Which reactions

take place here ? Write the names and equations of the reactions.

}s/mﬁ%?

What is an ore ?

L

387 e o et w7

Why curd and sour substances should not be -képt in -ﬁrass and copper

utensils ?
-~ ' .
V7. iR S o § R R s S € 2 2
How is iron protected from rusting ?
18. WEHUISTH Y1 T & 7 T 3 I 3 5
What is a_covalent bond ? Give two examples of it.
S-1 [—] 170036670, Page 44/48
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[112]

T WS 19 03 20 2 gwie 1 g @ Pt o a1 s &) ww T & fg

5 3% Fwifia

1x85=§

Question Nos. 19 and 20 are Long Answer Type, Answer any one of them. Each question

carmes S marks. https://www.bihartopper.com

19. R 5w e § pH & 6l A el w1 Ieei B

Mention any five importances of pH in our daily life.

20/ FEGERA FE ? 7% fF TPR F e € ?

What are hydrocarbons ? What are it types ?

g T ‘H'-‘Fl' ] Short Answer Type Questions

Wi femre / Blology

I x5=5

mw’wm#2sﬁwm§rﬁ#%ﬁémﬁ%mﬁmm%ﬁv

23 faifea 21 4x2=8
Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions. Each question
carmes 2 marks. 4x2=8
20, T & I REEA | E 2 2
___ What is double circulation of blood ?

—| 17003-(s8/70) Page 45/48
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| .
29. @@W%Wwﬁwaﬂhﬁl
Describe the accessory organs of a typical flower.
2
o3, WIEE A FE ?
What is vegetative reproduction ?
- o 2
% gt e feRT § SR Sl
Differentiate between artery and '.v;-in.
5 ' 2
o Frver Frg YR & e § 2 T I 2 |
What type of respiration is fermentation ? Where does it take pldace ?.
26, O & SIS 1 RO 9 S T 2 2
How is food translocated in plants ?
27. T % S 1 URHUE (Platelets) Y T YHEH € ? 2
What is the role of blood platelets in clotting of blood ?
2, it Ft fuftw fafdi SR e 2 -. . o,
What are the different methods of contraception ?
S-1 | =1 17003-66/70) : Page 46/48
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3 I W¥ / Long Answer Type Questions

W WERT 29 UF 30 A Fwiw #1 g @ fat vF @7 I §1 0RE 0T & e

5 3% fuifa &1 1x5=5
Question Nos. 29 and 30 are Long Answer Type. Answer any one of them. Each question
carries 5 marks. I1x5=5
20, = Y ? W ARG O R LA HI ST B 5
What in neuron ? Draw a well-labelled diagram of a neuron.
30//31mnmw%?3ﬁﬁ3ﬂwmmﬁl 5
v
What is a food chain ? Explain it with an example.
https://www.bihartopper.com
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